ENRICHRMENT ACTIVITIES

SUBTRACTION
. s : kool

A. Tick () the correct option. Do en La At «

1. 1 ten is regrouped to give |
a. lO*tens.'v} b. 10 ones. /} c. 1 one. )

2. 1 hundred is regrouped to give
a. 10 tens. \é) b. 10 ones. J‘ c. 1one. J

3. When 0 is subtracted from 135, the difference is 7
a less than 135. ) b 0. ) e. 135. )

4. To subtract 234 from 875, we h‘ave‘ to, regroup
a. NoNeE. EC) b. ones and tens. J c. tens and hundreds.

5. To check a subtraction problem, we need to

a. add. :{; ~ b. subtract. j c. add and subtract.
B. Fill in the blanks. Do & bookl
1. 38-0 =37 © 3393 12% =215+ 118 = 393
2. 1Q00 — 234 = 366 ‘o4 300 1 =699

C. Solve these word problems. ___ Do P Cop

1. A tree had 642 flowers on it. After a storm only 257 owers
remained on the tree. How many flowers were blown away?

2. There were 256 litres of milk in a drum The milkman added 842 litres of
milk to it. Later, he sold 562 litres of milk. How much milk was left?

MULTIPLICATION
A. Tick (¢) the correct option. Dr ¢» beok

1. There are 8 pencils in a box. How many pencils will there be in 7 boxes?

2 R —() b. 56 \jr c. 84 J




"}l

Tarun has 12 marbles. Mohit has twice as many. Mohit has

a. 2 marbles. ) b. 12 marbles. ) ¢. 24 marbles.
16 horses have legs.
w16, ] b. 64 ) ¢. 32. )
There are 50 seats in a bus. How many seats will there be in 8 buses?
2 508 ) b. 40 ) c. 400 )
There are minutes in 3 hours.
a. 420 ) b. 180 c. 60 J
. Compare each product. Put > or <in the ). Do ¢ n book
. 4xT 3)3x9 S 3.3x2x7L)j6x8 553x10=;25x2
7x7 £)6x9 a4 6x4  8x3 0 6 Tx9 JIx6x7T

. Solve these word problems. Do tn Cop Y.
. A box has 248 shirts. How many shirts are there in 15 such boxes?

A farmer packed 32 boxes of apples, each containing 250 apples.
How many apples did he pack? »
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p > 28S Flowers were Howpn oway
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1098& L

Tetol mitk_ 20 dhe drum =

2SL+ 842 = 1098 R

| Mr‘k 2old l-\q Jdlo Milkmon = 5 62 R

m“mmm sl milk_lefd = c2b L

Lpag - Chy = C2HE

fney G26 Lot wmolk wos f\_e;H—.
GuLTIPLIcATION)

Q) Selve  dhose wornd Prephlomse
D Numben of 2urdt 0o A bpx = 248
Niombhere af boxes = 1 & _
N aumhen st 2hinds ¢n 1& boxes ' 4 &
| — 94% X1g A Vs
= 27130 19 40
: \ T 248D
Qn 1o hoxes . 3¢ 2 O;

rNumbor of opple cn each box = 380D

Niombor s&  hoxes packed = 3

Numbon 8f ppglos c\n 32 _hoxel 25 0
= 2T0 X259 X .22
= RO 500
ang-y Hha for_mon_ paekod 00 £ 00
€00 O
Qeplosr . .
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